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When n-p-n transistor is used as an

amplifier in common base configuration,

then
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holes move from emitter to base
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electrons move from emitter to base
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Write the Widemann-Franz law.
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What are Miller indices? How are they
determined?
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Discuss the working of a C-E transistor
amplifier. Also calculate its gain.
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Discuss with necess
you can draw the characteristics

p-n junction diode.
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What do you mean by intrinsic and
extrinsic semiconductors?
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What do you mean by
characteristics of a transistor?

with a suitable circuit diagram,
describe the action of tuned collector

oscillator.
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What do you mean by Meissner effect in
case of superconductivity?
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Find the packing fraction for b.c.c. and
f.c.c. lattice.
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